
Page 1 of 40 

Supporting information 

Stereoselective Synthesis of Chiral IBR2 Analogues 

Xiao­Long Qiu, †,* Jiewen Zhu, † Guikai Wu, † Wen­Hwa, Lee, †, * A. Richard Chamberlin ‡,§ 

† Department of Biological Chemistry, School of Medicine, ‡ Department of Chemistry, § Department of 
Pharmaceutical Sciences, University of California, Irivne. Irvine CA, 92697, USA 

* To whom correspondence should be addressed. E­mail: whlee@uci.edu, qiux@uci.edu 

General 

Synthesis of Cinchona­derivated thiourea alkaloid 57­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S3 
Synthesis of Quinine­derivated thiourea alkaloid 58­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S3 
Procedure of synthesis of compounds 40­47­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S4­S6 
Procedure of synthesis of compounds 2, 6­8, 12­14­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­ ­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S6­S9 
Procedure of synthesis of compounds 62­64, 16­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­ ­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S9­S10 
HPLC analysis of the racemic compounds 1, 2­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S11 
HPLC analysis of the chiral compound 1­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S12 
HPLC analysis of the chiral compound 2­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S13 
HPLC analysis of the racemic compounds 3, 6­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S14 
HPLC analysis of the chiral compound 3­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S15 
HPLC analysis of the chiral compound 6­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S16 
HPLC analysis of the racemic compounds 4, 7­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S17 
HPLC analysis of the chiral compound 4­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S18 
HPLC analysis of the chiral compound 7­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S19 
HPLC analysis of the racemic compounds 5, 8­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S20 
HPLC analysis of the chiral compound 5­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S21 
HPLC analysis of the chiral compound 8­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S22 
HPLC analysis of the racemic compounds 9, 12­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S23 
HPLC analysis of the chiral compound 9­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S24 
HPLC analysis of the chiral compound 12­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S25 
HPLC analysis of the racemic compounds 10, 13­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S26 
HPLC analysis of the chiral compound 10­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S27



Page 2 of 40 

HPLC analysis of the chiral compound 13­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S28 
HPLC analysis of the racemic compounds 11, 14­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S29 
HPLC analysis of the chiral compound 11­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S30 
HPLC analysis of the chiral compound 14­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S31 
HPLC analysis of the racemic compound 54­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S32 
HPLC analysis of the chiral compound (R)­54­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S33 
HPLC analysis of the racemic compound 55­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S34 
HPLC analysis of the chiral compound (R)­55­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S35 
HPLC analysis of the chiral compound (S)­55­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S36 
HPLC analysis of the chiral compound 15­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S37 
HPLC analysis of the chiral compound 16­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S38 
ORTEP drawing of the X­ray crystallographic structure of chiral compound 1­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S39 
ORTEP drawing of the X­ray crystallographic structure of chiral compound 15­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S39 
References­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­­S40



Page 3 of 40 

Synthesis of Cinchona­derivated thiourea alkaloid 57 was performed according the reported procedure. 1 

N H 

HN  N 
H 

N 
S 

CF 3 

CF 3 
Cinchona­derived 
thiourea alkaloid (57) 

OMe 

1 H NMR (400 MHz, MeOH­D4) δ 8.69­8.67 (m, 1H), 8.11 (s, 2H), 8.04 (d, J = 1.6 Hz, 1H), 7.95­7.92 (m, 1H), 7.60 

(s, 1H), 7.57 (d, J = 4.8 Hz, 1H), 7.44 (dd, J = 9.2, 3.2 Hz, 1H), 6.38 (d, J = 10.8 Hz, 1H), 5.96 (ddd, J = 17.0, 10.8, 

6.0  Hz,  1H),  5.23  (dt,  J  =  17.6,  1.6  Hz,  1H),  5.15  (dt,  J  =  10.8,  2.4  Hz,  1H),  4.03  (s,  3H),  3.41­3.32  (m,  2H), 

3.08­2.99 (m, 3H), 2.39­2.35 (m, 1H), 1.65­1.63 (m, 3H), 1.24­1.19 (m, 1H), 1.07­1.01 (m, 1H); 19 F NMR (376 MHz, 

MeOH­D4) δ ­64.7 (s, 6F); MS (ESI) m/z 595 (M + H + ). 

Synthesis of quinine­derivated thiourea alkaloid 58 was performed according the reported procedure. 1 

N 
H 

HN 

Quinine­derived 
thiourea alkaloid (58) 

N 

OMe 

N 
H 

S 
CF 3 

CF 3 

1 H NMR (400 MHz, MeOH­D4) δ 8.67 (d, J = 4.4 Hz, 1H), 8.10 (s, 3H), 7.94 (d, J = 9.2 Hz, 1H), 7.57 (d, J = 16.8 

Hz, 1H), 7.43 (d, J = 7.6 Hz, 1H), 6.34 (d, J = 10.0 Hz, 1H), 5.88­5.80 (m, 1H), 5.04­4.90 (m, 4H), 4.02 (s, 3H), 3.59 

(s, 1H), 3.42­3.25 (m, 2H), 2.80 (d, J = 13.2 Hz, 1H), 2.34 (s, 1H), 1.65 (d, J = 20.8 Hz, 3H), 1.45 (t, J = 12.0 Hz, 

1H), 0.86 (br, 1H); 19 F NMR (376 MHz, MeOH­D4) δ ­64.7 (s, 6F); MS (ESI) m/z 595 (M + H + ).



Page 4 of 40 

3­{(S)­Amino­[2­(2­benzyloxy­ethyl)­phenyl]­methyl}­indole­1­carboxylic acid tert­butyl ester (40). Compound 40 (350 mg, 89%) 

was prepared as a clear oil from the compound 28, using the same conditions as described for the compound 29. [α]D 20 +68.1 (c 1.00 

CHCl3); 1 H NMR (500 MHz, CDCl3) δ 8.11 (br, 1H), 7.52 (d, J = 0.5 Hz, 1H), 7.32­7.13 (m, 11H), 7.08­7.05 (m, 1H), 5.65 (s, 1H), 

4.48 (s, 2H), 3.77­3.68 (m, 2H), 3.22­3.16 (m, 1H), 3.09­3.03 (m, 1H), 1.89 (br, 2H), 1.66 (s, 9H); 13 C NMR (125 MHz, CDCl3) δ 

150.0, 142.9, 138.3, 136.6, 136.1, 130.2, 129.4, 128.5, 127.8, 127.8, 127.5, 127.2, 127.1, 125.5, 124.5, 123.4, 122.6, 120.0, 115.4, 83.7, 

73.2, 71.4, 48.9, 33.0, 28.4; MS (ESI) m/z 457 (M + H + ), 479 (M + Na + ), 913 (2M + Na + ); ESI­HRMS Calcd for C29H33N2O3  (M + 

H + ), 457.2491 Found: 457.2501. 

3­{(S)­Amino­[2­(2­hydroxy­ethyl)­phenyl]­methyl}­indole­1­carboxylic acid tert­butyl ester (41). Compound 41 (207 mg, 89%) 

was prepared as a clear oil from the compound 40, using the same conditions as described for the compound 30. [α]D 20 +62.9 (c 1.10 

CH2Cl2); 1 H NMR (400 MHz, CD2Cl2) δ 8.12 (d, J = 8.4 Hz, 1H), 7.67 (s, 1H), 7.32­7.22 (m, 3H), 7.10­7.03 (m, 4H), 5.61 (s, 1H), 

4.02­3.97 (m, 1H), 3.76 (ddd, J = 10.2, 9.8, 4.0 Hz, 1H), 3.25 (ddd, J = 14.4, 9.8, 4.4 Hz, 1H), 3.06­2.98 (m, 4H), 1.70 (s, 9H); 13 C 

NMR (125 MHz, CD2Cl2) δ 150.3, 141.8, 139.7, 136.6, 131.0, 129.4, 128.5, 127.6, 127.1, 125.7, 125.0, 123.6, 122.9, 120.3, 115.8, 

84.4, 64.3, 49.4, 36.3, 28.5; MS (ESI) m/z 389 (M + Na + ), 733 (2M + H + ); ESI­HRMS Calcd for C22H26N2O3Na (M + Na + ), 389.1841 

Found: 389.1832. 

3­((S)­Amino­{2­[2­(tert­butyl­dimethyl­silanyloxy)­ethyl]­phenyl}­methyl)­indole­1­carboxylic  acid  tert­butyl  ester  (42). 

Compound  42  (245 mg,  96%) was  prepared  as  a  clear oil  from  the compound  41,  using  the  same  conditions  as  described  for  the 

compound 31. [α]D 20 +60.2 (c 1.00 CHCl3); 1 H NMR (400 MHz, CDCl3) δ 8.14 (d, J = 7.2 Hz, 1H), 7.50 (d, J = 0.8 Hz, 1H), 7.37 (dd, 

J = 1.6, 1.2 Hz, 1H), 7.31­7.22 (m, 4H), 7.20­7.11 (m, 2H), 5.68 (d, J = 0.8 Hz, 1H), 3.93­3.83 (m, 2H), 3.13­3.16 (m, 1H), 3.03­2.96 

(m, 1H), 1.99 (br, 2H), 1.68 (s, 9H), 0.87 (s, 9H), 0.01, ­0.01 (2s, 6H); 13 C NMR (125 MHz, CDCl3) δ 150.0, 142.7, 136.6, 130.6, 

129.4, 127.4, 127.0, 127.0, 125.5, 124.6, 123.6, 122.6, 120.0, 115.5, 83.8, 64.7, 48.9, 36.0, 28.4, 26.2, 18.6, ­5.2; MS (ESI) m/z 503 

(M + Na + ), 961 (2M + H + ); ESI­HRMS Calcd for C28H40N2O3SiNa (M + Na + ), 503.2706 Found: 503.2695. 

3­((S)­Benzyloxycarbonylamino­{2­[2­(tert­butyl­dimethyl­silanyloxy)­ethyl]­phenyl}­methyl)­indole­1­carboxylic  acid



Page 5 of 40 

tert­butyl ester (43). Compound 43 (418 mg, 85%) was prepared as a white foam from the compound 42, using the same conditions 

as described for the compound 32. [α]D 20  ­7.5 (c 1.00 CHCl3); 1 H NMR (400 MHz, CDCl3) δ 8.11 (d, J = 7.6 Hz, 1H), 7.37­7.16 (m, 

13H), 6.43 (d, J = 7.6 Hz, 1H), 5.56 (d, J = 4.0 Hz, 1H), 5.17 (dd, J = 12.4, 12.8 Hz, 2H); 3.95­3.88 (m, 1H), 3.83­3.78 (m, 1H), 

3.05­2.97 (m, 1H), 2.91­2.86 (m, 1H), 1.66 (s, 9H), 0.82 (s, 9H), ­0.05, ­0.07 (2s, 6H); 13 C NMR (125 MHz, CDCl3) δ 155.6, 149.9, 

138.6, 137.2, 136.6, 136.1, 131.2, 129.0, 128.7, 128.3, 127.9, 127.1, 126.9, 124.9, 124.6, 122.9, 122.3, 120.0, 115.5, 84.1, 67.1, 64.1, 

49.2, 36.1, 28.4, 26.1, 18.5, ­5.3; MS (ESI) m/z 632 (M + NH4 
+ ), 637 (2M + Na + ); ESI­HRMS Calcd for C36H46N2O5SiNa (M + Na + ), 

637.3074 Found: 637.3071. 

3­{(S)­Benzyloxycarbonylamino­[2­(2­hydroxy­ethyl)­phenyl]­methyl}­indole­1­carboxylic  acid  tert­butyl  ester  (44). 

Compound 44 (324 mg, 95%) was prepared as a white foam from the compound 43, using the same conditions as described for the 

compound  33.  [α]D 20  ­19.4  (c  0.7  CH2Cl2);  1 H NMR  (500 MHz,  CD2Cl2) δ  8.11  (d,  J  =  8.5  Hz,  1H),  7.43  (d,  J  =  8.0  Hz,  1H), 

7.38­7.25  (m, 10H), 7.21­7.18 (m, 2H), 6.49  (d,  J = 8.0 Hz, 1H), 5.80 (d,  J = 8.0 Hz, 1H), 5.16­5.08 (m, 2H), 3.88­3.83  (m, 2H), 

2.99­2.88 (m, 2H), 2.42 (br, 1H), 1.64 (s, 9H); 13 C NMR (125 MHz, CD2Cl2) δ 156.2, 150.1, 139.7, 137.8, 137.2, 136.4, 131.1, 129.3, 

129.0, 128.6, 128.5, 128.4, 127.4, 127.3, 125.3, 125.2, 123.2, 122.0, 120.2, 115.9, 84.6, 67.4, 64.1, 49.4, 36.3, 28.4; MS (ESI) m/z 518 

(M + NH4 
+ ), 523 (M + Na + ); ESI­HRMS Calcd for C30H32N2O5Na (M + Na + ), 523.2209 Found: 523.2193. 

3­{(S)­Benzyloxycarbonylamino­[2­(2­methanesulfonyloxy­ethyl)­phenyl]­methyl}­indole­1­carboxylic acid tert­butyl ester (45). 

Compound 45 (350 mg, 89%) was prepared as a white foam from the compound 44, using the same conditions as described for the 

compound  35.  [α]D 20  ­27.0  (c  0.96 CHCl3);  1 H NMR  (500 MHz, CDCl3) δ  8.14  (d,  J  =  13.5 Hz,  1H),  7.51  (d,  J  =  8.0 Hz,  1H), 

7.49­7.27 (m, 11H), 7.14 (s, 1H), 6.46 (d, J = 12.0 Hz, 1H), 5.55 (d, J = 7.5 Hz, 1H), 5.21 (dd, J = 12.5, 15.0 Hz, 2H), 4.59­4.54 (m, 

1H), 4.50­4.53 (m, 1H), 3.23­3.16 (m, 2H), 2.84 (s, 3H), 1.70 (s, 9H);  13 C NMR (125 MHz, CDCl3) δ 155.6, 149.8, 139.1, 136.4, 

135.9, 134.0, 131.0, 128.8, 128.7, 128.4, 128.3, 128.2, 127.9, 127.0, 125.2, 123.1, 121.3, 119.7, 115.6, 84.5, 69.9, 67.3, 48.6, 37.1, 

32.4, 28.3; MS (ESI) m/z 579 (M + H + ), 596 (M + NH4 
+ ), 601 (M + Na + ); ESI­HRMS Calcd for C31H34N2O7SNa (M + Na + ), 601.1984 

Found: 601.1968.



Page 6 of 40 

(S)­3­(1,  2,  3,  4­Tetrahydro­isoquinolin­1­yl)­indole­1­carboxylic  acid  tert­butyl  ester  (46). Compound  46  (166 mg,  92%) was 

prepared as a white foam from the compound 45, using the same conditions as described for the compound 36. [α]D 20  ­17.9 (c 0.96 

CHCl3); 1 H NMR (400 MHz, CDCl3) δ 8.15 (d, J = 7.6 Hz, 1H), 7.46­7.43 (m, 2H), 7.33­7.27 (m, 1H), 7.20­7.16 (m, 3H), 7.08­7.04 

(m, 1H), 6.98 (d, J = 8.0 Hz, 1H), 5.43 (s, 1H), 3.30 (dt, J = 11.6, 5.2 Hz, 1H), 3.17­3.05 (m, 2H), 2.90 (dt, J = 15.6, 4.8 Hz, 1H), 2.24 

(br, 1H), 1.68 (s, 9H);  13 C NMR (125 MHz, CDCl3) δ 150.0, 137.3, 136.1, 135.3, 129.5, 129.2, 127.7, 126.6, 126.0, 125.2, 124.6, 

123.9,  122.8,  120.3,  115.5,  83.9,  54.0,  42.3,  29.9,  28.4;  MS  (ESI)  m/z  349  (M  +  H + ),  697  (2M  +  H + );  ESI­HRMS  Calcd  for 

C22H25N2O2 (M + H + ), 349.1916 Found: 349.1911. 

(S)­1­(1H­Indol­3­yl)­1, 2, 3, 4­tetrahydro­isoquinoline (47).  Compound 47 (90 mg, 91%) was prepared as a white foam from the 

compound 46, using the same conditions as described for the compound 39. [α]D 20 ­7.8 (c 1.15 CH2Cl2); 1 H NMR (400 MHz, CD2Cl2) 

δ 8.62 (s, 1H), 7.42 (d, J = 8.0 Hz, 1H), 7.33 (d, J = 8.4 Hz, 1H), 7.19­7.12 (m, 3H), 7.03­7.00 (m, 2H), 6.94­6.92 (m, 2H), 5.45 (s, 

1H), 3.29­3.23 (m, 1H), 3.13­3.00 (m, 2H), 2.92­2.84 (m, 1H), 2.70 (br, 1H); 13 C NMR (125 MHz, CD2Cl2) δ 139.2, 137.2, 135.9, 

129.5, 128.1, 126.9, 126.6, 125.9, 124.6, 122.4, 120.2, 119.9, 119.8, 111.8, 54.6, 42.5, 30.3; MS (ESI) m/z 249 (M + H + ); ESI­HRMS 

Calcd for C17H17N2 (M + H + ), 249.1392 Found: 249.1393. 

(S)­1­(1H­Indol­3­yl)­2­phenylmethanesulfonyl­1, 2, 3, 4­tetrahydro­isoquinoline (2). Compound 2 (102 mg, 90%) was prepared 

as a white foam from the compound 46, using the same conditions as described for the compound 1. [α]D 20  ­92.9 (c 0.63 CH2Cl2); 1 H 

NMR (400 MHz, CD2Cl2) δ 8.36 (s, 1H), 7.74 (d, J = 8.0 Hz, 1H), 7.42 (d, J = 8.0 Hz, 1H), 7.27­7.11 (m, 8H), 7.03 (d, J = 8.0 Hz, 

1H), 6.92 (d, J = 7.2 Hz, 2H), 6.85 (d, J = 2.4 Hz, 1H), 6.42 (s, 1H), 3.95­3.86 (m, 2H), 3.56 (dd, J = 6.4, 6.4 Hz, 1H), 3.24 (ddd, J = 

13.6, 4.4, 4.4 Hz, 1H), 3.01 (ddd, J = 17.2, 6.0, 4.4 Hz, 1H), 2.77 (dd, J = 4.0, 2.8 Hz, 1H); 13 C NMR (125 MHz, CD2Cl2) δ 136.9, 

136.3, 134.1, 131.2, 129.6, 129.6, 128.8, 128.8, 128.7, 127.4, 126.9, 126.6, 125.9, 123.1, 120.8, 120.4, 117.7, 111.9, 59.3, 53.1, 40.0, 

29.1; MS (ESI) m/z 403 (M + H + ), 425 (M + Na + ); ESI­HRMS Calcd for C24H23N2O2S (M + H + ), 403.1480 Found: 403.1473. 

(S)­2­(2­Fluoro­phenylmethanesulfonyl)­1­(1H­indol­3­yl)­1,  2,  3,  4­tetrahydro­isoquinoline  (6).  Compound  6  (40  mg,  82%) 

was prepared as a white foam using the same conditions as described  for  the compound 2.  [α]D 20  ­115.3 (c 0.56 CH2Cl2); 1 H NMR



Page 7 of 40 

(400 MHz, CD2Cl2) δ 8.30 (s, 1H), 7.70 (d, J = 8.4 Hz, 1H), 7.39 (dt, J = 8.4, 0.8 Hz, 1H), 7.29­7.23 (m, 3H), 7.19 (ddd, J = 8.2, 1.2, 

1.2 Hz, 1H), 7.14­7.07 (m, 3H), 7.05­7.00 (m, 2H), 6.95 (ddd, J = 9.8, 1.2, 1.2 Hz, 1H), 6.82 (d, J = 2.8 Hz, 1H), 6.41 (s, 1H), 3.98 (s, 

2H), 3.77 (ddt, J = 6.8, 6.8, 1.6 Hz, 1H), 3.44 (ddd, J = 16.4, 4.4, 2.0 Hz, 1H), 3.14 (ddd, J = 17.8, 6.4, 6.0 Hz, 1H), 2.86 (ddd, J = 

16.8, 1.2, 1.2 Hz, 1H); 13 C NMR (125 MHz, CD2Cl2) δ 162.7, 160.7, 136.9, 136.2, 134.0, 133.0, 133.0, 131.0, 130.9, 129.7, 128.6, 

127.5, 126.8, 126.7, 126.1, 124.6, 124.6, 123.0, 120.7, 120.4, 117.5, 117.3, 117.3, 116.0, 115.8, 111.8, 53.3, 52.0 (d, J = 2.0 Hz), 39.9, 

28.8; 19 F NMR (376 MHz, CD2Cl2) δ ­117.5 (s, 1F); MS (ESI) m/z 421 (M + H + ), 438 (M + NH4 
+ ), 443 (M + Na + ); ESI­HRMS Calcd 

for C24H21FN2O2SNa (M + Na + ), 443.1205 Found: 443.1218. 

(S)­2­(3­Fluoro­phenylmethanesulfonyl)­1­(1H­indol­3­yl)­1, 2, 3, 4­tetrahydro­isoquinoline (7). Compound 7 (38 mg, 80%) was 

prepared as a white  foam using the same conditions as described for  the compound 2.  [α]D 20  ­70.5 (c 0.51 CH2Cl2); 1 H NMR (400 

MHz, CD2Cl2) δ 8.36 (s, 1H), 7.76 (d, J = 8.0 Hz, 1H), 7.43 (d, J = 8.0 Hz, 1H), 7.25­7.19 (m, 3H), 7.16­7.10 (m, 3H), 7.02 (d, J = 7.6 

Hz, 1H), 6.95 (td, J = 8.2, 2.1 Hz, 1H), 6.84 (d, J = 2.8 Hz), 6.70 (d, J = 7.6 Hz, 1H), 6.60 (d, J = 10.0 Hz, 1H), 6.42 (s, 1H), 3.92 (d, J 

= 13.6 Hz, 1H), 3.86 (d, J = 13.6 Hz, 1H), 3.57 (dd, J = 6.4, 6.8 Hz, 1H), 3.24 (ddd, J = 13.6, 4.4, 4.0 Hz, 1H), 3.01 (ddd, J = 17.8, 6.4, 

4.8 Hz, 1H), 2.79 (dd, J = 16.8, 3.2 Hz, 1H); 13 C NMR (125 MHz, CD2Cl2) δ 163.9, 161.9, 136.8, 136.2, 134.0, 132.0, 131.9, 130.4, 

130.3, 129.6, 128.6, 127.5, 127.0, 127.0, 126.9, 126.7, 125.9, 123.2, 120.8, 120.3, 118.1, 117.9, 117.7, 115.8, 115.6, 111.9, 58.8 (d, J = 

2.1 Hz), 53.1, 40.1, 29.2; 19 F NMR (376 MHz, CD2Cl2) δ ­113.8 (s, 1F); MS (ESI) m/z 438 (M + NH4 
+ ), 443 (M + Na + ); ESI­HRMS 

Calcd for C24H21FN2O2SNa (M + Na + ), 443.1205 Found: 443.1219. 

(S)­2­(4­Fluoro­phenylmethanesulfonyl)­1­(1H­indol­3­yl)­1, 2, 3, 4­tetrahydro­isoquinoline (8). Compound 8 (39 mg, 82%) was 

prepared as a white  foam using the same conditions as described for  the compound 2.  [α]D 20  ­81.4 (c 0.34 CH2Cl2); 1 H NMR (500 

MHz, CD2Cl2) δ 8.33 (s, 1H), 7.73 (d, J = 8.0 Hz, 1H), 7.42 (dt, J = 8.0, 1.0 Hz, 1H), 7.24­7.19 (m, 3H), 7.14­7.10 (m, 2H), 7.09 (d, J 

= 8.0 Hz, 1H), 6.88­6.82 (m, 5H), 6.39 (s, 1H), 3.93 (d, J = 13.5 Hz, 1H), 3.85 (d, J = 13.5 Hz, 1H), 3.55 (ddt, J = 14.0, 6.5, 1.3 Hz, 

1H), 3.23 (ddd, J = 16.5, 4.5, 1.5 Hz, 1H), 3.01 (ddd, J = 18.3, 7.5, 5.5 Hz, 1H), 2.78 (dd, J = 4.0, 4.5 Hz, 1H); 13 C NMR (125 MHz, 

CD2Cl2) δ 136.9, 136.3, 134.1, 133.0, 132.9, 129.7, 128.7, 127.5, 126.9, 126.7, 125.9, 125.6, 125.6, 123.2, 120.8, 120.4, 117.8, 115.8,



Page 8 of 40 

115.6, 111.9, 58.5, 53.1, 40.1, 29.2; 19 F NMR (376 MHz, CD2Cl2) δ ­114.6 (s, 1F); MS (ESI) m/z 421 (M + H + ), 443 (M + Na + ), 863 

(2M + Na + ); ESI­HRMS Calcd for C24H21FN2O2SNa (M + Na + ), 443.1205 Found: 443.1201. 

(S)­1­(1H­Indol­3­yl)­2­(2­trifluoromethyl­phenylmethanesulfonyl)­1, 2, 3, 4­tetrahydro­isoquinoline (12). Compound 12 (37 mg, 

84%) was prepared as a white foam using the same conditions as described for  the compound 2.  [α]D 20  ­150.2 (c 0.60 CH2Cl2); 1 H 

NMR (400 MHz, CD2Cl2) δ 8.30 (s, 1H), 7.76 (d, J = 8.0 Hz, 1H), 7.65 (d, J = 7.6 Hz, 1H), 7.56­7.49 (m, 2H), 7.43 (t, J = 7.6 Hz, 1H), 

7.39 (dt, J = 8.0, 1.8 Hz, 1H), 7.28­7.24 (m, 2H), 7.21­7.15 (m, 2H), 7.12­7.08 (m, 2H), 6.80 (d, J = 2.4 Hz, 1H), 6.48 (s, 1H), 4.10 (d, 

J = 14.0 Hz, 1H), 4.03 (d, J = 13.6 Hz, 1H), 3.87 (ddt, J = 14.4, 6.8, 1.6 Hz, 1H), 3.51 (ddd, J = 16.8, 4.8, 2.0 Hz, 1H), 3.20 (ddd, J = 

18.0, 6.8, 6.4 Hz, 1H), 2.92 (dd, J = 4.0, 4.2 Hz, 1H); 13 C NMR (125 MHz, CD2Cl2) δ 137.0. 136.0, 133.9, 133.6, 132.4, 129.8, 129.8, 

129.0, 128.7, 128.2 (q, J = 1.9 Hz), 127.7, 127.0 (q, J = 5.8 Hz), 126.8, 126.7, 126.1, 126.0, 123.5, 123.1, 123.0, 120.7, 120.7, 120.4, 

120.3, 117.4, 111.8, 55.0, 53.5, 39.7, 28.4; 19 F NMR (376 MHz, CD2Cl2) δ ­58.7 (s, 3F); MS (ESI) m/z 471 (M + H + ), 488 (M + NH4 
+ ), 

493 (M + Na + ); ESI­HRMS Calcd for C25H22F3N2O2S (M + H + ), 471.1354 Found: 471.1357. 

(S)­1­(1H­Indol­3­yl)­2­(3­trifluoromethyl­phenylmethanesulfonyl)­1, 2, 3, 4­tetrahydro­isoquinoline (13). Compound 13 (39 mg, 

86%) was prepared as a white  foam using  the same  conditions as described  for  the compound 2.  [α]D 20  ­62.3  (c 0.38 CH2Cl2);  1 H 

NMR (400 MHz, CD2Cl2) δ 8.38 (s, 1H), 7.82 (dd, J = 7.8, 1.2 Hz, 1H), 7.51 (d, J = 8.0 Hz, 1H), 7.44 (dt, J = 8.0, 0.8 Hz, 1H), 7.33 (t, 

J = 8.0 Hz, 1H), 7.26­7.20 (m, 4H), 7.16 (ddd, J = 8.0, 1.2, 1.2 Hz, 1H), 7.12 (td, J = 7.6, 2.0 Hz, 1H), 7.03­7.01 (m, 2H), 6.83 (d, J = 

2.4 Hz, 1H), 6.46 (s, 1H), 3.98 (d, J = 13.2 Hz, 1H), 3.92 (d, J = 13.6 Hz, 1H), 3.50 (ddt, J = 13.6, 6.4, 1.2 Hz, 1H), 3.20 (ddd, J = 

13.4, 4.0, 1.2 Hz, 1H), 3.02 (ddd, J = 17.8, 6.4, 4.8 Hz, 1H), 2.78 (ddd, J = 16.6, 0.8, 1.2 Hz, 1H); 13 C NMR (125 MHz, CD2Cl2) δ 

136.8, 136.2, 134.7, 133.9, 131.6, 130.9 (q, J = 32.3 Hz), 130.9, 129.6, 129.5, 128.7, 127.8 (q, J = 5.0 Hz), 127.5, 126.9, 126.7, 125.9, 

125.6 (q, J = 3.6 Hz), 123.3, 123.3, 120.9, 120.2, 117.7, 112.0, 58.8, 52.9, 40.1, 29.3; 19 F NMR (376 MHz, CD2Cl2) δ ­63.2 (s, 3F); 

MS (ESI) m/z 471 (M + H + ), 488 (M + NH4 
+ ), 493 (M + Na + ); ESI­HRMS Calcd for C25H22F3N2O2S (M + H + ), 471.1354 Found: 

471.1346. 

(S)­1­(1H­Indol­3­yl)­2­(4­trifluoromethyl­phenylmethanesulfonyl)­1, 2, 3, 4­tetrahydro­isoquinoline (14). Compound 14 (42 mg,



Page 9 of 40 

83%) was prepared as a white  foam using  the same  conditions as described  for  the compound 2.  [α]D 20  ­67.2  (c 0.30 CH2Cl2);  1 H 

NMR (400 MHz, CD2Cl2) δ 8.34 (s, 1H), 7.74 (d, J = 8.0 Hz, 1H), 7.44­7.40 (m, 3H), 7.25­7.19 (m, 3H), 7.15­7.09 (m, 2H), 7.05 (d, J 

= 7.6 Hz, 2H), 6.99 (d, J = 8.0 Hz, 1H), 6.83 (d, J = 2.4 Hz, 1H), 6.38 (s, 1H), 4.01 (d, J = 13.6 Hz, 1H), 3.93 (d, J = 13.6 Hz, 1H), 

3.60 (dd, J = 6.4, 6.8 Hz, 1H), 3.26 (ddd, J = 13.6, 4.0, 4.4 Hz, 1H), 3.03 (ddd, J = 17.6, 6.4, 4.8 Hz, 1H), 2.81 (dd, J = 2.8, 4.0 Hz, 

1H); 13 C NMR (125 MHz, CD2Cl2) δ 136.9, 136.2, 133.9, 133.8, 131.6, 129.6, 128.6, 127.5, 126.8, 126.8, 126.0, 125.8 (q, J = 3.4 Hz), 

123.5, 123.2, 120.8, 120.4, 117.6, 112.0, 58.9, 53.2, 40.1, 29.1; 19 F NMR (376 MHz, CD2Cl2) δ ­63.3 (s, 3F); MS (ESI) m/z 471 (M + 

H + ), 488 (M + NH4 
+ ), 493 (M + Na + ), 958 (2M + NH4 

+ ); ESI­HRMS Calcd for C25H22F3N2O2S (M + H + ), 471.1354 Found: 471.1346. 

3­[(S)­Phenylmethanesulfonylamino­(2­vinyl­phenyl)­methyl]­indole­1­carboxylic acid  tert­butyl ester (62). Compound 62 (230 

mg, 94%) was prepared as a white foam using the same conditions as described for the compound 59. [α]D 20 ­15.5 (c 1.2 CH2Cl2); 1 H 

NMR (500 MHz, CDCl3) δ 8.08 (d, J = 8.4 Hz, 1H), 7.59­7.54 (m, 2H), 7.41­7.35 (m, 3H), 7.35­7.27 (m, 3H), 7.25­7.19 (m, 3H), 7.12 

(dd, J = 13.8, 8.4 Hz, 1H), 7.02 (d, J = 6.0 Hz, 2H), 6.31 (d, J = 6.8 Hz, 1H), 5.66 (d, J = 13.6 Hz, 1H), 5.39 (d, J = 8.8 Hz, 1H), 5.00 

(d, J = 6.4 Hz, 1H), 4.07 (d, J = 14.0 Hz, 1H), 3.95 (d, J = 14.2 Hz, 1H), 1.65 (s, 9H); 13 C NMR (125 MHz, CD2Cl2) δ 149.8, 137.2, 

136.9, 136.0, 134.0, 130.8, 128.8, 128.8, 128.7, 128.7, 128.5, 127.9, 127.5, 125.1, 125.0, 123.2, 121.1, 120.2, 118.6, 115.5, 84.4, 60.5, 

51.9,  28.4; MS  (ESI) m/z  520  (M + NH4 
+ ),  525  (M + Na + ); ESI­HRMS Calcd  for C29H30N2O4SNa  (M + Na + ),  525.1824 Found: 

525.1816. 

3­[(S)­(Allyl­phenylmethanesulfonyl­amino)­(2­vinyl­phenyl)­methyl]­indole­1­carboxylic acid tert­butyl ester (63).  Compound 

63  (215 mg, 94%) was prepared as a white  foam using  the same conditions as described  for  the compound 60.  [α]D 20 +6.7 (c 0.64 

CH2Cl2); 1 H NMR (500 MHz, CDCl3) δ 8.09 (d, J = 7.0 Hz, 1H), 7.59 (d, J = 7.5 Hz, 1H), 7.42 (s, 1H), 7.39­7.27 (m, 11H), 7.21­7.13 

(m, 2H), 6.85 (s, 1H), 5.70 (dd, J = 17.3, 1.2 Hz, 1H), 5.39­5.34 (m, 2H), 4.90 (dd, J = 28.0, 13.5 Hz, 1H), 4.09­4.00 (m, 4H), 1.68 (s, 

9H); 13 C NMR (125 MHz, CDCl3) δ 149.9, 137.8, 135.6, 134.9, 134.3, 131.1, 129.3, 129.0, 128.8, 128.8, 128.7, 128.1, 127.2, 126.4, 

125.1, 123.1, 120.4, 119.8, 118.0, 115.4, 84.4, 60.7, 55.4, 49.2, 28.4; MS (ESI) m/z 560  (M + NH4 
+ ), 565  (M + Na + ); ESI­HRMS 

Calcd for C32H34N2O4SNa (M + Na + ), 565.2137 Found: 565.2143.



Page 10 of 40 

3­((S)­2­Phenylmethanesulfonyl­2, 3­dihydro­1H­benzo[c]azepin­1­yl)­indole­1­carboxylic acid tert­butyl ester (64).  Compound 

64  (176 mg, 98%) was prepared as a white  foam using  the same conditions as described  for  the compound 61.  [α]D 20  ­40.2 (c 0.5 

CH2Cl2); 1 H NMR (500 MHz, CD2Cl2) δ 8.06 (d, J = 8.5 Hz, 1H), 7.86 (d, J = 7.5 Hz, 1H), 7.44­7.39 (m, 2H), 7.37­7.25 (m, 7H), 

7.14­7.13 (m, 2H), 6.87 (s, 1H), 6.55 (s, 1H), 6.50 (d, J = 10.5 Hz, 1H), 5.61 (ddd, J = 12.3, 5.0, 2.0 Hz, 1H), 4.36 (ddd, J = 21.0, 5.0, 

1.0 Hz, 1H), 3.94 (d, J = 13.5 Hz, 1H), 3.62 (d, J = 13.5 Hz, 1H), 3.58 (dt, J = 21.0, 2.5 Hz, 1H), 1.60 (s, 9H); 13 C NMR (125 MHz, 

CD2Cl2) δ 150.1, 138.8, 136.1, 135.3, 133.5, 131.2, 130.6, 130.4, 129.9, 129.4, 129.1, 128.9, 128.8, 128.5, 127.3, 125.4, 123.7, 119.9, 

116.9, 115.8, 84.7, 59.6, 59.5, 46.8, 28.4; MS (ESI) m/z 532 (M + NH4 
+ ), 537 (M + Na + ); ESI­HRMS Calcd for C30H30N2O4SNa (M + 

Na + ), 537.1824 Found: 537.1826. 

(S)­1­(1H­Indol­3­yl)­2­phenylmethanesulfonyl­2, 3­dihydro­1H­benzo[c]azepine (16).  Compound 16 (99 mg, 70%) was prepared 

as a white  foam using  the  same  conditions  as  described  for  the compound  15.  [α]D 20  ­91.2  (c  0.35 CH2Cl2);  1 H NMR (500 MHz, 

CD2Cl2) δ 8.18 (s, 1H), 7.84 (d, J = 8.0 Hz, 1H), 7.40­7.36 (m, 4H), 7.32­7.22 (m, 5H), 7.19­7.14 (m, 3H), 6.62 (s, 1H), 6.49 (s, 1H), 

6.48 (d, J = 14.0 Hz, 1H), 5.58 (ddd, J = 12.3, 4.8, 2.0 Hz, 1H), 4.31 (dd, J = 20.8, 5.0 Hz, 1H), 3.95 (d, J = 13.5 Hz, 1H), 3.65 (d, J = 

14.0 Hz, 1H), 3.54 (dt, J = 20.5, 2.8 Hz, 1H);  13 C NMR (125 MHz, CD2Cl2) δ 140.0, 137.1, 135.3, 133.4, 131.2, 130.8, 130.5, 129.9, 

129.7, 129.3, 128.9, 128.7, 128.7, 128.3, 126.1, 123.2, 120.9, 119.6, 112.5, 111.8, 59.9, 59.6, 46.5; MS (ESI) m/z 432 (M + NH4 
+ ); 

437 (M + Na + ), 846 (2M + NH4 
+ ); ESI­HRMS Calcd for C25H22N2O2SNa (M + Na + ), 437.1300 Found: 437.1296.



Page 11 of 40 

HPLC analysis of racemic compounds 1­2. 

N 
S 

NH 

O  O



Page 12 of 40 

HPLC analysis of chiral compound 1. 

N 
S 

NH 

O  O



Page 13 of 40 

HPLC analysis of chiral compound 2. 

N 
S 

NH 

O  O



Page 14 of 40 

HPLC analysis of racemic compounds 3 and 6. 

N 
S 

NH 

O  O 

F



Page 15 of 40 

HPLC analysis of chiral compound 3. 

N 
S 

NH 

O  O 

F



Page 16 of 40 

HPLC analysis of chiral compound 6. 

N 
S 

NH 

O  O 

F



Page 17 of 40 

HPLC analysis of racemic compound 4 and 7. 

N 
S 

NH 

O  O 

F



Page 18 of 40 

HPLC analysis of chiral compound 4. 

N 
S 

NH 

O  O 

F



Page 19 of 40 

HPLC analysis of chiral compound 7. 

N 
S 

NH 

O  O 

F 

7



Page 20 of 40 

HPLC analysis of racemic compounds 5, 8. 

N 
S 

NH 

O  O 
F



Page 21 of 40 

HPLC analysis of chiral compound 5. 

N 
S 

NH 

O  O 
F 

5 (98% ee)



Page 22 of 40 

HPLC analysis of chiral compound 8. 

N 
S 

NH 

O  O 
F 

8 (96% ee)



Page 23 of 40 

HPLC analysis of racemic compounds 9, 12. 
. 

N 
S 

NH 

O  O 

CF 3



Page 24 of 40 

HPLC analysis of chiral compound 9. 

N 
S 

NH 

O  O 

9 (97.1% ee) 

CF 3



Page 25 of 40 

HPLC analysis of chiral compound 12. 

N 
S 

NH 

O  O 

12 (93.5% ee) 

CF 3



Page 26 of 40 

HPLC analysis of racemic compounds 10, 13. 

N 
S 

NH 

O  O 

CF 3



Page 27 of 40 

HPLC analysis of chiral compound 10. 

N 
S 

NH 

O  O 

10 (97.7% ee) 

CF 3



Page 28 of 40 

HPLC analysis of chiral compound 13. 

N 
S 

NH 

O  O 

13 (93.0% ee) 

CF 3



Page 29 of 40 

HPLC analysis of chiral compound 11, 14. 

N 
S 

NH 

O  O 
CF 3



Page 30 of 40 

HPLC analysis of chiral compound 11. 

N 
S 

NH 

O  O 

11 (96.3% ee) 

CF 3



Page 31 of 40 

HPLC analysis of chiral compound 14. 

N 
S 

NH 

O  O 

14 (91.5% ee) 

CF 3



Page 32 of 40 

HPLC analysis of racemic compound 54. 

H 
N 

S 

NH 

O  O 

racemic 54



Page 33 of 40 

HPLC analysis of chiral compound (R)­54. 

H 
N 

S 

NH 

O  O 

(R)­54 (94.9% ee)



Page 34 of 40 

HPLC analysis of racemic compound 55. 

H 
N 

S 

NH 

O  O 

racemic 55



Page 35 of 40 

HPLC analysis of chiral compound (R)­55. 

H 
N 

S 

NH 

O  O 

(R)­55 (99.1% ee)



Page 36 of 40 

HPLC analysis of chiral compound (S)­55. 

H 
N 

S 

NH 

O  O 

(S)­55 (98.3% ee)



Page 37 of 40 

HPLC analysis of chiral compound (R)­15. 

(R)­15 (99.1% ee) 

N 

NH 

S 
O  O



Page 38 of 40 

HPLC analysis of chiral compound (S)­16. 

(S)­16 (99.2% ee) 

N 

NH 

S 
O  O



Page 39 of 40 

ORTEP drawing of the X­ray crystallographic structure of chiral compound 1: 

ORTEP drawing of the X­ray crystallographic structure of chiral compound 15:



Page 40 of 40 

Reference: 

(1) Wang, Y.­Q.; Song, J.; Hong, R.; Li, H.; Deng, L. J. Am. Chem. Soc. 2006, 128, 8156­8157.


